Drigitatty stgned-by-€Cobzari=Turca
Date: 2024.02.05 13:05:00 EET
Reason: MoldSign Signature

Lpwieti M4 Proteza totald cim

frtati de genunchi cu platou tibial fix _

Stanga
D8022120E - sizel DM000388102
D8022220E - size.2 DM000388104
D8022320E — size 3 DM000388106
D8022420E — size 4 DM000388108
7.1 Componenta D8022520E — size 5 DMO000388110
femurala Dreapta
D8022110E —size 1 DM000388101
D8022210E — size 2 DM000388103
D8022310E — size 3 DM000388105
D8022410E — size 4 DM000388107
D8022510E — size 5 DM000388109
D8032100E — size 1 DM000388071
T —— D8032200E — size 2 DM000388072
tibiala D8032300E — size 3 DM000388073
= D8032400E — size 4 DM000388074
D8032500E — size 5 DM000388075
D8025101E @10x70mm DMO000670345
D8025102E @10x120mm DMO000670346
D8025103E @10x200mm DMO000670347
D8025201E @12x70mm DMO000670348
D8025202E @12x120mm DM000670349
D8025203E 312x200mm DMO000670350
D8025301E @14x70mm DM000670351
D8025302E @14x120mm DMO000670352
7.4 Tiia de extensie D8025303E @14x200mm DM000670353
D8025401E @16x70mm DMO000670354
D8025402E 316x120mm DMO000670355
D8025403E ©16x200mm DM000670356
D8025501E @18x70mm DMO000670357
D8025502E @18x120mm DMO000670358
D8025503E B18x200mm DM000670359
D8025601E ©20x70mm DMO000670360
D8025602E 320x120mm DM000670361
D8051100E size 1x10 DM000388149
D8051120E size 1x12 DM000388150
D8051140E size 1x14 DM000388151
- D8051160E size 1x16 DM000388152
7.5 Insert tibial D8051180E size 1x18 DM000388153
D8051200E size 1x20 DM000388154
D8052100E size 2x10 DMO000388155




D8052120E size 2x12 DMO000388156
D8052140E size 2x14 DMO000388157
D8052160E size 2x16 DMO000388158
D8052180E size 2x18 DMO000388159
D8052200E size 2x20 DMO000388160
D8053100E size 3x10 DMO000388161
D8053120E size 3x12 DMO000388162
D8053140E size 3x14 DMO000388163
D8053160E size 3x16 DMO000388164
D8053180E size 3x18 DMO000388165
D8053200E size 3x20 DMO000388166
Nr. Set D8603300
D8280750 DRILL BIT FOR TIBIAL STEM @#10X70 MM DMO000670494
D8280755 DRILL BIT FOR TIBIAL STEM @12X70 MM DMO000670495
D8280760 DRILL BIT FOR TIBIAL STEM @14X70 MM DMO000670496
D8280765 DRILL BIT GUIDE DMO000670497
D8280770 TRIAL STEM @#10X70 MM DMO000670498
D8280775 TRIAL STEM @$12X70 MM DMO000670499
D8280780 TRIAL STEM @14X70 MM DMO000670500
D8280785 CUTTING GUIDE FOR TIBIAL SUPP. SMM LEFT DMO000670501
oo sl e D8280786 CUTTING GUIDE FOR TIBIAL SUPP. SMM RIGHT DMO000670502
instrumente D8280790 SPACER FOR SUPPLEMENT 8 MM DMO000670503
D8603300 Nr D8280805 TIBIAL AUGMENTATION LEFT TRIAL 8MM S.1 DMO000670504
setului din catalog D8280810 TIBIAL AUGMENTATION LEFT TRIAL 8MM S.2 DMO000670505
D8280815 TIBIAL AUGMENTATION LEFT TRIAL 8MM S.3 DMO000670506
D8280820 TIBIAL AUGMENTATION LEFT TRIAL 8MM S.4 DMO000670507
D8280825 TIBIAL AUGMENTATION LEFT TRIAL 8MM S.5 DMO000670508
D8280830 TIBIAL AUGMENTATION RIGHT TRIAL 8MM S.1 DMO000670509
D8280835 TIBIAL AUGMENTATION RIGHT TRIAL 8MM S.2 DMO000670510
D8280840 TIBIAL AUGMENTATION RIGHT TRIAL 8MM S.3 DMO000670511
D8280845 TIBIAL AUGMENTATION RIGHT TRIAL 8MM S.4 DM000670512
D8280850 TIBIAL AUGMENTATION RIGHT TRIAL 8MM S.5 DMO000670513
D8280855 CUTTING GUIDE FOR TIB. MEDIAL LINE RIGHT DMO000670514
D8280860 CUTTING GUIDE FOR TIB. MEDIAL LINE LEFT DMO000670515
Nr. Set D8610000
1) D8602100 Femoral instrumental set 1DCF
D8280010 STARTER AWL DMO000670438
D8280020 STARTER DRILL DMO000670439
D8280050 DISTAL CUT GUIDE DMO000670442
D8280030 ALIGNMENT ROD DMO000670440
7.7 Setul de D8280040 ALIGNMENT FEMORAL GUIDE DMO000670441
instrumente D8280055 DCF CUTTING GUIDE POSITIONER DMO000670443
D8610000 Nr D8271460 PIN IMPACTOR/EXTRACTOR AUXILIAR BAR DM000670436
setului din catalog  |"5g510300 ADAPTER HELICAL PIN @3,4MM TO HUDSON DMO000670432
D8280430 PIN EXTRACTOR TERMINAL @3,4MM DMO000670466
D8220285 PIN EXTRACTOR FORCEPS DMO000670433
D8210250 HELICAL PIN @3,4X50 MM DMO000670430
D8210255 HELICAL PIN @3,4X75 MM DMO000670431
D8280200 HELICAL PIN @3,4X35 MM HEXAGONAL HEAD DMO000670454
D8280210 HELICAL PIN @3,4X50 MM HEXAGONAL HEAD DMO000670455




D8280060 FEMORAL GAUGE DMO000670444
D8280090 DRILL 33,4 MM DMO000670447
D8280100 CUTTING BLOCK INSERTER/EXTRACTOR DM000670448
D8280110 CUTIING FEMORAL BLOCKS SIZE 1 DM000670449
D8280120 CUTIING FEMORAL BLOCKS SIZE 2 DM000670450
D8280130 CUTIING FEMORAL BLOCKS SIZE 3 DM000670451
D8280140 CUTIING FEMORAL BLOCKS SIZE 4 DM000670452
D8280150 CUTIING FEMORAL BLOCKS SIZE 5 DM000670453
D8280080 PROTECTOR TIBIAL PLATE DMO000670446
D8280070 RESECTION CHECKER DMO000670445
2) DB8602200 Femoral instrumental set 2 DCF
D8114110 TRIAL FEMORAL COMPONENT RIGHT S.1 DM000670362
D8114210 TRIAL FEMORAL COMPONENT RIGHT S.2 DM000670364
D8114310 TRIAL FEMORAL COMPONENT RIGHT S.3 DM000670366
D8114410 TRIAL FEMORAL COMPONENT RIGHT S.4 DM000670368
D8114510 TRIAL FEMORAL COMPONENT RIGHT S.5 DM000670370
D8114120 TRIAL FEMORAL COMPONENT LEFT S.1 DMO000670363
D8114220 TRIAL FEMORAL COMPONENT LEFT S.2 DMO000670365
D8114320 TRIAL FEMORAL COMPONENT LEFT S.3 DMO000670367
D8114420 TRIAL FEMORAL COMPONENT LEFT S.4 DMO000670369
D8114520 TRIAL FEMORAL COMPONENT LEFT S.5 DMO000670371
D8280410 NPS DRILL BIT DMO000670464
D8210162 3,4 4X40 MM PIN HEAD DMO000670429
D8280380 INTERCONDILAR CUTTING GUIDE DMO000670463
D8280310 PS TRIAL INTERCONDYLAR BOX SIZE 1 DMO000670456
D8280320 PS TRIAL INTERCONDYLAR BOX SIZE 2 DMO000670457
D8280330 PS TRIAL INTERCONDYLAR BOX SIZE 3 DMO000670458
D8280340 PS TRIAL INTERCONDYLAR BOX SIZE 4 DMO000670459
D8280350 PS TRIAL INTERCONDYLAR BOX SIZE 5 DMO000670460
D8280420 CHISEL DMO000670465
D8280360 INSERTER/EXTRACTOR OF FEMORAL COMPONENTS DMO000670461
D8220630 4,5 MM SCREWDRIVER DMO000670434
D8280440 POSTERIOR RECUT BLOCK +4 MM DMO000670467
D8272165 REDUCED DISTAL RECUTTING MASK DMO000670437
D8280370 FEMORAL COMPONENT IMPACTOR DM000670462
3) DB8603100 Tibial instrumental set
D8280510 EXTRAMEDULLARY TELESCOPIC GUIDE DMO000670469
D8280505 INTRAMEDULLARY TELESCOPIC GUIDE DMO000670468
D8280520 PALPATION SOUNDER 0-10 DMO000670470
D8280530 TIBIAL CUTTING GUIDE LEFT DMO000670472
D8280525 TIBIAL CUTTING GUIDE RIGHT DMO000670471
D8210080 AXLE ALIGNMENT L 400MM DMO000670427
D8280600 TRIAL SPACER 10-12mm DMO000670479
D8280605 TRIAL SPACER 14-16mm DM000670480
D8280610 TRIAL SPACER 18-20mm DMO000670481
D8210255 HELICAL PIN @3,4X75 MM DMO000670431
D8210250 HELICAL PIN @3,4X50 MM DMO000670430
D8280210 HELICAL PIN ¢3,4X50 MM HEXAGONAL HEAD DMO000670455
D8210161 @3.4MM X 30MM PIN WITH HEAD DM000670428
D8280555 TIBIAL TEMPLATE SIZE 1 DMO000670474
D8280560 TIBIAL TEMPLATE SIZE 2 DMO000670475
D8280565 TIBIAL TEMPLATE SIZE 3 DMO000670476
D8280570 TIBIAL TEMPLATE SIZE 4 DMO000670477




D8280575 TIBIAL TEMPLATE SIZE 5 DMO000670478
D8280650 KEEL CHISEL SIZE 1 DMO000670486
D8280655 KEEL CHISEL SIZE 2 DMO000670487
D8280660 KEEL CHISEL SIZE 3 DMO000670488
D8280665 KEEL CHISEL SIZE 4 DMO000670489
D8280670 KEEL CHISEL SIZE 5 DMO000670490
D8280550 TIBIAL TEMPLATE HANDLE DMO000670473
D8280640 POST TIBIAL DRILL DMO000670484
D8280645 TIBIAL POST DRILL GUIDE DMO000670485
D8280625 TIBIAL INSERT IMPACTOR DMO000670482
D8280685 INSERTER BOLT FIXING DMO000670492
D8280680 TIBIAL TRAY INSERTER / IMPACTOR DMO000670491
D8220635S 2,5 MM SCREWDRIVER DMO000670435
D8280630 TIBIAL INSERT EXTRACTOR DMO000670483
4) D8402100 NPS instrumental set
D8141100 NPS TRIAL TIBIAL INSERT S.1X10 MM DMO000670377
D8141120 NPS TRIAL TIBIAL INSERT S.1X12 MM DMO000670378
D8141140 NPS TRIAL TIBIAL INSERT S.1X14 MM DMO000670379
D8141160 NPS TRIAL TIBIAL INSERT S.1X16 MM DMO000670380
D8142100 NPS TRIAL TIBIAL INSERT S.2X10 MM DM000670381
D8142120 NPS TRIAL TIBIAL INSERT S.2X12 MM DM000670382
D8142140 NPS TRIAL TIBIAL INSERT S.2X14 MM DMO000670383
D8142160 NPS TRIAL TIBIAL INSERT S.2X16 MM DM000670384
D8143100 NPS TRIAL TIBIAL INSERT S.3X10 MM DMO000670385
D8143120 NPS TRIAL TIBIAL INSERT S.3X12 MM DM000670386
D8143140 NPS TRIAL TIBIAL INSERT S.3X14 MM DMO000670387
D8143160 NPS TRIAL TIBIAL INSERT S.3X16 MM DMO000670388
D8144100 NPS TRIAL TIBIAL INSERT S.4X10 MM DM000670389
D8144120 NPS TRIAL TIBIAL INSERT S.4X12 MM DM000670390
D8144140 NPS TRIAL TIBIAL INSERT S.4X14 MM DMO000670391
D8144160 NPS TRIAL TIBIAL INSERT S.4X16 MM DM000670392
D8145100 NPS TRIAL TIBIAL INSERT S.5X10 MM DMO000670393
D8145120 NPS TRIAL TIBIAL INSERT S.5X12 MM DMO000670394
D8145140 NPS TRIAL TIBIAL INSERT S.5X14 MM DMO000670395
D8145160 NPS TRIAL TIBIAL INSERT S.5X16 MM DMO000670396
5) D8405100 PS instrumental set
D8151100 PS TRIAL TIBIAL INSERT S.1X10 MM DMO000670397
D8151120 PS TRIAL TIBIAL INSERT S.1X12 MM DMO000670398
D8151140 PS TRIAL TIBIAL INSERT S.1X14 MM DMO000670399
D8151160 PS TRIAL TIBIAL INSERT S.1X16 MM DM000670400
D8151180 PS TRIAL TIBIAL INSERT S.1X18 MM DMO000670401
D8151200 PS TRIAL TIBIAL INSERT S.1X20 MM DMO000670402
D8152100 PS TRIAL TIBIAL INSERT S.2X10 MM DMO000670403
D8152120 PS TRIAL TIBIAL INSERT S.2X12 MM DMO000670404
D8152140 PS TRIAL TIBIAL INSERT S.2X14 MM DMO000670405
D8152160 PS TRIAL TIBIAL INSERT S.2X16 MM DMO000670406
D8152180 PS TRIAL TIBIAL INSERT S.2X18 MM DMO000670407
D8152200 PS TRIAL TIBIAL INSERT S.2X20 MM DMO000670408
D8153100 PS TRIAL TIBIAL INSERT S.3X10 MM DMO000670409
D8153120 PS TRIAL TIBIAL INSERT S.3X12 MM DMO000670410
D8153140 PS TRIAL TIBIAL INSERT S.3X14 MM DMO000670411
D8153160 PS TRIAL TIBIAL INSERT S.3X16 MM DMO000670412
D8153180 PS TRIAL TIBIAL INSERT S.3X18 MM DMO000670413




D8153200 PS TRIAL TIBIAL INSERT S.3X20 MM DMO000670414
D8154100 PS TRIAL TIBIAL INSERT S.4X10 MM DMO000670415
D8154120 PS TRIAL TIBIAL INSERT S.4X12 MM DMO000670416
D8154140 PS TRIAL TIBIAL INSERT S.4X14 MM DMO000670417
D8154160 PS TRIAL TIBIAL INSERT S.4X16 MM DMO000670418
D8154180 PS TRIAL TIBIAL INSERT S.4X18 MM DMO000670419
D8154200 PS TRIAL TIBIAL INSERT S.4X20 MM DMO000670420
D8155100 PS TRIAL TIBIAL INSERT S.5X10 MM DMO000670421
D8155120 PS TRIAL TIBIAL INSERT S.5X12 MM DMO000670422
D8155140 PS TRIAL TIBIAL INSERT S.5X14 MM DMO000670423
D8155160 PS TRIAL TIBIAL INSERT S.5X16 MM DMO000670424
D8155180 PS TRIAL TIBIAL INSERT S.5X18 MM DMO000670425
D8155200 PS TRIAL TIBIAL INSERT S.5X20 MM DMO000670426
6) D8603200 Patellar instrumental set
D8130140 TRIAL PATELLA @#32 MM DMO000670372
D8130150 TRIAL PATELLA #34 MM DMO000670373
D8130160 TRIAL PATELLA @36 MM DMO000670374
D8130170 TRIAL PATELLA @38 MM DM000670375
D8130180 TRIAL PATELLA @40 MM DMO000670376
D8280700 PATELLAR DRILL DMO000670493
D8280865 PATELLAR HEIGHT MEASURING DMO000670516
D8280870 PATELLAR RESECTION FORCEPS DMO000670517
D8280875 PATELLAR GUIDE DRILL DMO000670518
D8280880 PATELLAR RELEASE DMO000670519




		2024-02-05T13:05:00+0200
	Moldova
	MoldSign Signature




